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2 22,500
= 6,750
Al 3,017,442
HHSYAH(FFDUMUEZ SSAIL D) 465,113 361,207 103,906
elE 2 178,093 165,442 12,651
(F=)el2tl 178,093 165,442 12,651
101 Q1244 178,093 165,442 12,651
012+ 74,069 66,934 7,135
oOxn=22+E 74,069
OANZeZ2R+E 74,069
~ErE 8,754 x 13 « 30AI2F x 128 40,969
—oie 11,3898 x 198 « 30AI2F + 128 4,101
-1 A 9,342% » 3% = 30AI2t » 123 10,090
-JlsA 8,7548 = 6% * 30AI2F = 12E 18,909
02 JlEtA =~ 21,787 20,232 1,555
oFABH 19,454
OANLZR+E
8,0808 = 4H * 30AI2t = 12 11,607
ootz 2+
2,6878 * BAI2E « 1 » 365 7,847
OXYAHAA S0l A A
6,478% « 128 * 30AI2F = 12 2,333
03 RIAAZZTE S 82,237 78,276 3,961
OHIANRY, BAt2cld 73,964
o¢=s(ta) 48,980
—234 Xt 26,740,000& = 1& 26,740
-13E& Xt 22,240,0008 * 1¥ 22,240
O=¢ 14,326
-bEsY 1,680
B = X+ 40,0008 » 128 * 2% 960
EHlS 20,0008 = 12& = 3¥ 720
-HEZ2Z2SE 259,000& = 128 = 29 6,216
2558 204,090 » 128 = 29 4,899
SIS PNE
25,390,000 / 3652 = 11& + 2&H 1,531
OZE =0ty 1,224,500& = 23| = 28 4,898
o=l 120,000& » 128 = 2¥ 2,880
OuEHl 120,0008 » 128 = 2% 2,880
QU= 550
OblAe# 230,000 = 23 = 1& 460
OJIER2# 90,000& = 13 = 1 90
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A F - O(3H) - MISAS - BES e = HmE2
OC4UAEIEE S 7,723
O=2oid=28d=2 73,964,000 * 4.5% 3,329
Olnesyga=se:=2 73,964,000& * 1.5% 1,110
OHnLEEERES 73,964,000 * 2.945% 2,179
SEPIEEEE
2,179,000& = 6.55% 143
OKA Tl EE & 73,964,000 * 1.3% 962
Jl=2&| 287,020 195,765 91,255
(H==)) 122 287,020 195,765 91,255
201 2 B2 HH| 233,470 175,105 58,365
01 AR 22| Hl 45,344 65,870 A20,526
OJI2ge+8 25| 7,112,000& 7,112
OUE HRE A 7,0008 * 5058 * 33| 1,050
O MFUHI (28U =91H)
12,500 = 200 2,500
ouNEFR=E=E 7,144
OFESPN 15,000 = 20HAF = 12&€ 360
OE2LX (28U =3HH)
15,000 = 5J0HAF = 128 900
OXI X 13,000 = 6IHAF * 258 x 128 1,872
OXNEX (28U =3HH)
13,0008 » 5JHAF = 128 780
Ost=44& E2tX 11,0008 = 1& x 128 132
Q22X (22U =3HH)
15,0002 = 10JHAF = 128 1,800
OF 22X (2 =3HH)
5,000 * 5JHAF = 523 1,300
OF X2 A (182 /15,0000H)
250,000& = 58tA 1,250
(CE=E=y 11,500
(@)IESE=E=y 50,0008 = 2% = {15¢ 11,500
O=2H| JIEAHI
6,0008 * 14" » 802 * 90% 6,048
O Il =4 960
OFAZZE 120,000&¢ * 25| = 4H 960
O - 240 2=z 45,0008 * 40H = 12&€ 2,160
OUY - 240 AUS (28 )
45,0008 = 304 = 12& 1,620
OB UCIMEAIZ EEE RO HE
3,000, 000& 3,000
OYER T AIZ2 DX 250,0008 * 44! 1,000
02 Z22294| 188, 126 109,235 78,891
ogUdEr== 25,140
O=Z)| ot el 250,0008 = 128 3,000
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B Jl=dl (B
SA - ZE - BR(E) - NRAY - BYS 0 &y Se HIDE2
Os)| rEZe| e (2 )
250,000& » 128 3,000
OZAIJIAANE EI1EH 350,000& * 13 350
OZAIAAE HIIEHE(28U)
350,000& * 13 350
OCaUusII1d8 &3 1,300,000& * 13 1,300
o2 EIIEAM 100,000& * 18 100
OAEotM Ze|tHZ 250,000& * 128 3,000
OAgord 22 (2E )
250,000& * 128 3,000
OdEJ|etd Ze|tHd= 800,000& = 12 9,600
OFIIotE 2= (2 )
120,000& » 128 1,440
ORI =t 700
OLYtA 22| XuS 50,0008 = 23l 100
Ogatel, &I, ALod gEus
200,000¢ * 3& 600
oMIIRS 73,816
oJlzs 6,090 * 250kW » 122 18,270
oJlez(=28) 5,740& * 120kW = 122 8,266
OME= 80&  29,000kW * 12 27,840
OAMEZ(2E) 81& » 20,000kW » 12& 19,440
OXsR= 10,0003 * 2JHA « 128 240
oXstez(28U) 20,0008 » 128 240
OY - otx=Ee= 500,000& = 128 6,000
o4 - ot 22 (28 U) 300,000& = 128 3,600
o - LRI (TAIIIL)
BO0R * 4AI2F » 90m * 160 34,560
Od - HERS(ZAIIA/ZEH)
B00R = BAIZt » 6m" * 3CH » 160 10,368
oRER=S 3,024
Oget 2403 * 3008 * 128 864
O3 1,5008 = 1208 * 123 2,160
OZEER= 1,440
OQHY 3dAEZ 70,000& * 128 840
O2HY sldAE2(28H)
50,000 = 128 600
o4E 3l 850
Ost=d=g3 100,000& * 13 100
Ost=48 tNHE 3 50,0008 =+ 13 50
OgzelAtgsl 100,000& = 12l 100
OMX 3 100,000& =13 100
Oe=10d" 2EE2 3 100,000& = 12l 100
ORZoM g=2E3 150,000& * 13 150
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OTdtzagsl 150,000& = 13 150
Os=sg=283 100,000& = 13 100
oxs 282 8,140
OJtatie HYLE= 20,0008 * 12 20
OAtHY HYLBE(28H)
20,000& » 13 20
OQtHAID SYES 3,500,000& * 13l 3,500
OtAtD LS (2 U)
3,500,000& = 12 3,500
ONESt Ee=28 400,000& * 2CH 800
OHEE HIESEE 300,000& = 13 300
OXtSRHA 400
O28(58,58) 100,000 * 20§ » 23 400
o&INdRE=s 1,340
OxXsxez 70,0008 * 23 140
OAMdE= 300,000 = 23l 600
OAN&s=2(28U) 300,000& = 23l 600
OANEZEHIF b 588
(OF-F=F ]l 588
- A 4,200,000 * 1CH * 6% 252
o UPSE==0E 698,000 = 8CH * 6% 336
Oxg =Xl 9,979
Os&X =l 3,492,000& = 1CH 3,492
Osgx =Xl 6,487,000& = 1CH 6,487
OF3stx Ha 1,500,000& = 13 1,500
Os¥3 & 17,7008 * 1138 » 28 4,001
O2Y¢3 FA(100€ olst/28 )
1,100,000& = 23l 2,200
202 o4l 15,120 13,440 1,680
01 =W ol 15,120 13,440 1,680
S22 JI=gdl
20,000 = 148 » 90 = 60% 15,120
203 AR =&l 7,220 7,220 0
o1 Jj 22 YR=aY] 3,300 3,300 0
OJII=EH 3,300,000& 3,300
02 It S =2y 920 920 0
oIz 40,0008 = 23& 920
04 FAN2SELRFAY 3,000 3,000 0
©J1F 2 (15210I3t) 250,000& « 12 3,000
405 XHatE S| 31,210 0 31,210
01 Tt S SF SHI 31,210 0 31,210
©2I &t 770,000 = 14 770
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SA - B BLA(S) - HRAY - BAS 0fl &4 S HI D52
CEE; 440,008 * 10 440
OB RH(12215) 30,000,0002 * 1C4 30,000
SHRUBEUHS 2,581,579 2,263,313 318,266
2 22,500
= 6,750
Al 2,552,329
=X (EfE) MAE 259,858 289,908 £30,050
(RZ=)XTMAS A RIZEE T8 65,808 65,808 0
307 212rol™ 65,808 65,808 0
N EELEEE 65,808 65,808 0
OHMETISHES A2 2% Nd
65,808, 0008 * 14! 65,808
(RZ=)"F - H 12 18 B 25 £ 124,050 154, 100 £30,050
201 LAY 2,050 4,100 £2,050
01 AtR2teldl 2,050 4,100 A2,050
o190 12 HUDI B2E HE 2,050
O o 50,0008 * 3074 1,500
OHE 110”4 * 5,002 550
301 LU B 60,000 75,000 15,000
09 BALAHIEAZ 60,000 75,000 A 15,000
©19 12 HLID| 2Ab AHITIE
25,0008 * 12A12F » 208 * 102 60,000
307 giztol & 62,000 75,000 A13,000
02 I AN ST 50,000 60,000 210,000
©19 12 HUII Al
50,000,000 * 14] 50,000
04 DIZIBAFEES 2,000 15,000 23,000
OZmIIEE L MAIE 12,000,008 * 13 12,000
(Z=)aHel 0n-0ff Line 28 43 40,000 40,000 0
307 giztold 40,000 40,000 0
EEEPEEE 40,000 40,000 0
O3 Web HASE L 2B4H
40,000,0002 40,000
(RE)NTLE 284 £ 30,000 30,000 0
307 gi2t0l A 30,000 30,000 0
02 QAN EES 30,000 30,000 0
ORTAE 2oy £X 30,000,00024 30,000
N2 STEY 1,495,000 142,800 1,352,200
2 22,500
= 6,750
A 1,465,750
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HEnoiMeEa 2 AL
ESRABELES
NN 25 SPEY (el ®e)
= x olfs = =1 ijll'j =2}
SN - BB S(S) - MSEAY - BES i &t o HBE2
)38k =X A2 g2 170,000 142,800 27,200
307 gl2tol A 170,000 100,000 70,000
05 2IZtRE 3 170,000 100,000 70,000
O8N == g 170,000,000& 170,000
HE=)=MEH T4 ,280,000 0 1,280,000
401 Al HIZ 20t ,280,000 0 1,280,000
01 Al&HI ,280,000 0 1,280,000
O=dMzH =4 EX L AS0HYH]
1,280,000, 000& ,280,000
HF)20144 =22 2435 ALY 45,000 0 45,000
= 22,500
& 6,750
Al 15,750
307 21z2tol ™ 45,000 0 45,000
= 22,500
= 6,750
Al 15,750
02 ptEAExS 45,000 0 45,000
© 2HENE =2 o MOSI| 45,000,000 45,000
= 22,500
= 6,750
Al 15,750
X2l & Ak 450,000 115,000 335,000
HF)QUAD FXY 50,000 115,000 265,000
310 =2/01& 50,000 0 50,000
02 =H=RY=s 50,000 0 50,000
©2015 2 X4 Al 50,000
OAN&= 40,000,000& * 13 40,000
O#HHIE 10,000,000& » 13l 10,000
HF)014 BEANS 400,000 0 400,000
307 giztol A 400,000 0 400,000
04 QIMEAIE XS 400,000 0 400,000
02014 B2 X 400,000,000& =+ 12 400,000
HNINELAU=S 38,600 46,440 AT7,840
HF)AX E2MY F 11,000 13,000 £2,000
201 €2 6,000 8,000 A2,000
01 AtR 22l 6,000 8,000 22,000
OE=E= 6,000
ogsz 22 3,500
-2eE 1,500& * 1,0008 1,500
-3XE 2,000& * 1,000% 2,000
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SA HEDOUHUSE SSALD
M BRUBELTS
cel: AXNSLEADT EER-E))
= = xH ol(s = =] Ol SH5 =}
[SFEEL 2,500
=2 5002 * 3,0000H 1,500
-2=20 1,000& * 1,0000H 1,000
203 AR =ZFH| 5,000 5,000 0
03 Al ER AR =XIH 5,000 5,000 0
OATXIMHE LR =7 5,000,000& 5,000
(B3)2X DS AA 20,000 24,000 24,000
307 2I2+01 A 20,000 24,000 24,000
02 QIABAEXS 20,000 24,000 £4,000
OXXE=2 MEZEA 20,000,000 * 13 20,000
(Ex=)HEgzZz0y 29 7,600 4,440 3,160
201 L2 3,000 2,000 1,000
01 AL 22l 3,000 2,000 1,000
OMEA EEE ME 1,500 * 1,000 1,500
OMEA EEE2 ME(28H)
1,5002 * 1,000% 1,500
206 THZHI 4,600 2,440 2,160
01 24| 4,600 2,440 2,160
oMEA2Y M4l 3,600
OB oM 43 3E(2E)
300,0002 * 12% 3,600
OLERXNY =4 1,000
oUz xxre 4= 1,000,000 1,000
HeR25B2AxA 333, 121 259, 165 73,956
(=)™ AA K22 44,535 10,948 33,587
101 o124 39,535 10,948 28,587
04 JIZH2RERE S 39,535 10,948 28,587
g2 Dt DI OHL & AAJA 2t 5,987
oleaz 41,6802 » 198 » 262 x 5% 5,419
GEeIRuE== 5,419,000 * 4.5% 244
OZpAACESRYZ
5,419,0002 * 2.945% 160
OXIQUBEH2RLYZ 160,0008 * 6.55% 11
onsgsary=2 5,419,0002 * 1.5% 82
Ol =2aEE S 5,419,000 * 1.3% 71
O=28 M oM MAI2 MEga 22 32,628
oJlez 41,6808 » 29 « 262 x 128 26,009
OYESIIH 200,0008 * 29 * 23] 800
O=XZE 300,0008 * 2% 600
= 41,6809 » 2% » 30 2,501
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SELEEETS 26,000,000 = 4.5% 7171
O=R2AYBHERES
26,009,000& * 2.945% 766
OFIIQYBHSLS 766,002 * 6.55% 51
ODBEHEFLI 26,000,002 * 1.5% 301
ONATIHSABEE 26,000,008 = 1.3% 339
Oul=H| 920
o2snes 230,008 * 28] * 2% 920
401 Al HIZ 2 THYI 5,000 0 5,000
o1 Al 5,000 0 5,000
OBEY 24 ALY TY 5,000,008 * 14 5,000
(BF)ANee szl 191,539 170,947 20,592
206 T2t 6,090 12,800 £6,710
01 =4 6,090 12,800 26,710
SEP TS I 500
OppOtCH 4002+ 1000H 40
SEBE 5,002 * 5004 250
omz 3.0008 * 50% * 2} 300
oLy & I 200,008 * 53 1,000
oY ¥ SUTH 150,000 * 5% 750
LY 100,000 * 5% 500
OIS0 200,008 * 53 1,000
ods, Al 150,000& * 55 750
OYZZMEHDT 750,000& = 29K 1,500
401 A& HI L R CHHI 108,449 109,047 A58
01 Al 108,449 109,047 A508
CEEREIEE 3,0228! * 5,287 20,736
OFIINE R 22 5,000 * 930Kw 13,950
O©JIALH FA&L 5,000,000& » 18 5,000
owes RLIE M2 2 FH)
23,0008 * 270RT 6,210
ozJI2Y M2 % Tl
10,000,000 * 0.5 5,000
o4& RABL 5,000,008 * 14! 5,000
ostAE R 4,000
Ogs suF 1,000,000 * 14! 1,000
OCCTV Al A ZH| 1,000,000 * 141 1,000
oBEE AT 2,000,008 * 14 2,000
O4Y 2 SHBIS DH 5,000,008 * 15 5,000
OAAE eIl ST B2l 1,000,008 * 14 1,000
©3X)| LHDH 2,000,0008 * 141 2,000
o2dI |2 2,353
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SIRMEESLUNS
YRR BATY (Sl &)
- - SIE|
SN FHH.S(EH) - HRAY - BES S5 HimE=ET
OgdI| g2 2,000,000& * 14 2,000
Ozt (ER) 1,763& = 200 £ 353
OB AL =X 2E] 18,200
O3gs = 8,000& = 600m* 4,800
OHAIS2t 8,000& = 800m* 6,400
OAMIOILLa! 7,000
-85 E3H 2EO0IMA  7,500& * 400m 3,000
-THS SEIIJI 10,0002 » 400m" 4,000
oY - LHETUSHA HAAS
20,000,000& * 14 20,000
405 XH&HE S HI 77,000 49,100 27,900
01 AL ESFHSHI 77,000 49,100 27,900
OMSBII(eES®) 2,000,000& * 2CH 4,000
OJIETAIY &HOIA HZH(2EU) 73,000
OAAOIA(ZHLHEE 780+1,500+1,000)
6,000,000& * BCH 48,000
O4:31101 2 (800%800*1000)
5,000,000& * 5CH 25,000
HF)FUFAZ2E | 2 97,047 77,270 19,777
201 B2 | 1,680 1,680 0
01 At 2teld] 1,680 1,680 0
ogsa &Y 140,000& » 12 1,680
206 M=l 14,067 6,390 7,677
01 MHZ 8l 14,067 6,390 7,677
OMDIEE(1002 ) 1,860& = 3004 = 128 670
OMYIISF (1004 /28 )
1,860& = 2004 = 12& 447
O3 HAEE 100,000& * 128 1,200
ogs2 UMHMANE LEM S
7,000& * 3000 = 123 2,520
OHEH SINA HEBESHX & SHEES
90,0008 = 4044 = 128 4,320
Oz HEESEX L SHEES (28 )
90,0002 * 2 = 123 2,160
OxXZHRS (R HIE 5717 S)
2,000,000& = 12 2,000
ONHEZE NEES 750
gt s 3002 = 2,500kg 750
307 212t0l& 42,300 25,200 17,100
01 =L P =4l 300 0 300
oS YL DY HAZ PDUE
100,000& *» 3K 300
05 RIZtRIE = 42,000 25,200 16,800
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2M: FFNoMES2 2 AN
B SARMPEUND
o9l FUSHBAEA (e
= A xH ol (5 = =2 OH @EE =2}
oSzl 250,000& = 128 3,000
oRoAHI(=2E) 250,000& = 122 3,000
ouER L M TANB Hi
1,500,000 * 29 = 12& 36,000
401 AIEHIZ S UHYI 39,000 44,000 A5,000
01 Al&Hl 39,000 44,000 A5,000
O3 ANE szl 34,000
OZAAH(ILXIXIDN) 10,000,000 * 14 10,000
O & Yoretel 5,000,000& =* 43| 20,000
Oosr22U g=oh UHd  4,000,0008 * 12 4,000
ogsa=H ZRst =4 5,000
OS2z =9 OFMS AT & WX
5,000,000& * 13 5,000
N2 ER 45t 5,000 1,410,000 21,405,000
(H2)280 o4 BAIZ ALR2 5,000 0 5,000
201 2 Et2A | 5,000 0 5,000
03 HAr2 I 5,000 0 5,000
OZ2SAUMEAIZE 24
5,000,000& = 1002 5,000
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| =2 (= HY)

5 _ SIE]
2H - . HA(SH) - HEAY - HES 0l Akl %E% Husz
=noMErESR SR 960,588 878,058 82,530
= 200,000
[= 60,000
Al 700,588
SHN S HH(HZDOIMEES2 sHojloiPa) 28,040 29,588 21,548
Jl=& 28,040 29,588 A 1,548
(Bz=)J|=2&H] 28,040 29,588 A1,548
201 B2 H| 15,320 17,948 A2,628
01 AFR 22l bl 12,108 14,736 N2,628
OJl=gesss =2 6,742,000 6,742
oKERRER 648
O=YX 15,0002 * 1JHAF * 122 180
OXI gt 13,0002 * 3 AL » 12” 468
OAKAT WAUSE ZRHIE
166,0002 * 58 830
O= | JIE2AY|
6,0002 * 9 * 80 * 90% 3,888
02 2223 H| 3,212 3,212 0
ORERE 2,750
O 4,000 * 500 2,000
OSIIeH 1,5002 = 5008 750
OAAZEH |XH| 462
O A Z Y| 462
R APN-INJ 4,200,000 = 1CH * 6% 252
s (DS =R 698,000 * 5CH * 6% 210
202 04| 9,720 8,640 1,080
01 2oyl 9,720 8,640 1,080
OJIEY 20,0002 = 9% » 902 * 60% 9,720
203 IR EZAH| 3,000 3,000 0
04 BANRIAR XY 3,000 3,000 0
©JIFE M (15210l5t) 250,000 = 12& 3,000
SIRA BEE U S 927,348 848,470 78,878
2 200,000
[~ 60,000
Al 667,348
ANES DS 329,031 309,559 19,472
(EF:)2 Nz 29 50,900 51,400 2500
201 LBt H| 50,900 51,400 2500
01 At 22/ 31,500 30,000 1,500
ox=2s MIEBDY AdX2
2,625,0008 * 128 31,500
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SA: BFDOIMSS2 SR
HI: SR BEE L FS
ool AXE2S N (&2 )
A -8 -A2(3H) - NEANY - BES 0ff & o agg‘; Husz
02 2229l 19,400 21,400 22,000
OBFIZE ZXE2Y 29 16,400
OFI(Z=FE)2 200,0008 * 12€ 2,400
orgsgz 2,000,000 * 13 2,000
O - eI I3 1,000,0008 * 12¢ 12,000
OXNESR HAEH KX
3,000,0008 » 1HA 3,000
(B=)2X 22U 2 =3 82,911 83,639 NT728
202 O] 2,911 3,639 NT28
01 2ol 2,911 3,639 AT28
OZX 2U=3d =& ol
75,8008 * 2 * 32 « 83 * 80% 2,911
307 RI2H0IH 80,000 80,000 0
02 QIZtAME RS 80,000 80,000 0
Q=X =U=3d 10,000,000&! * 83| 80,000
(BF)AXE2H 29 142,370 109,700 32,670
201 Ler29t| 9,700 9,800 A 100
01 At 22|l 9,700 9,800 A 100
OXNEZUA NS EME 1,500
o2& M= 30,0008 * 502 * 13l 1,500
OFOII= =X HIZYI| B 5,500
OZA =& 70,0008 * 503 3,500
OmM M= 1,0008 * 2,000 2,000
OZXMAHE ANEEE EEEE 2,500
OBt 50084 = 30008 * 103 1,500
OARE S MEH 100,000 * 103 1,000
OXEEANK 29 200
ORI Z AL 1000A12F ST+ D12 TH
100,0008 = 2J4 200
301 LR A2 57,670 29,900 27,770
07 2BIEHOHI 24,000 0 24,000
OZXELZUA =5 24,000
o282 3,000,000 * 5% * 13 15,000
OH M gl 300,0008 * 109 = 3 9,000
09 BAIAHI &S 33,670 29,900 3,770
OZ X XZ At 600
OuNEES oy 20,0008 * 3% * 103 800
OZ X AloIZEE 2,000
O oyl 20,0008 * 10 » 103 2,000
OXLEANK 29 31,070
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SN HEDONSSY SR
HH: 2594 HE Y M2
ool ANEBEQ D] EEEED
SN EE .S (3T) - NEANY - B2 0 &k 04 S HimE=r
OEANK AbXa (40, D)
25,920, 000& 25,920
OFJIns ¥ Failsl AT 24|
7,000& * 508 « 123 4,200
O XA AR 600,000& = 104 = 13 600
OS X E A SAHI 7,000& * 508 * 13| 350
307 QI2+0| A 75,000 70,000 5,000
02 QI AMERZ 75,000 70,000 5,000
OZXNEE AT 60,000,000& = 13 60,000
O 249 10,000,000& * 13 10,000
Q0= &XEE 1,000,000& =* 53| 5,000
(BF)aXz28 =l 30,500 32,000 21,500
201 29| 30,500 32,000 21,500
01 AtR2teld] 21,500 32,000 210,500
OX 22 21,500
ocelg 4002 = 10,0000H 4,000
O=0t32 3,000& = 3,0000H 9,000
O XI (Aol A ZE) 4,500& = 1,000 4,500
odg 400& = 10,00074 4,000
02 222494l 9,000 0 9,000
O IXNBEALS SNLL
3,000,000 * 34 9,000
(HF g2 W= 22,350 32,820 210,470
201 829 4| 12,350 22,820 210,470
03 A2 HI 12,350 22,820 210,470
ou2B 232 12,350
Oxzd 20,000& = 450% 9,000
OL A== 120,000& = 102 1,200
O=Eg 2,150
-2l 28 600& = 3,000 1,800
-S=a 70,000& * 54 350
307 212+0|1 ™ 10,000 10,000 0
02 RIZIAMNEXRZ 10,000 10,000 0
©0lgl0l 23&tn 2% 10,000, 000& 10,000
I E g ab2te] 171,617 86,711 84,906
(BF)ge 2 22 88,617 51,711 36,906
101 21244| 5,987 7,511 AN1,524
4 JI2ZtHZ2Z2XSEs 5,987 7,511 AN1,524
oge ¥ A2 5,987
OJl=2(E8Y3)
41,6803 + 19 = 26Q = 5& 5,419
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SM: HEDoMSASE SoRY
M B3R EE L As
chel: JIERitz2tel (&2l &)
% = 4 =
SN - FH - S(3) - HRAEY - BYS 0] &k o8 G55 HimE=ET
OFAIQHZIN ¥ THEMZ
18,000,000& * 13 18,000
OEEE2 £ = HMZ  18,000,000& « 18 18,000
o2s ¥ 282 10,000, 000& * 13l 10,000
307 2I2t01™ 20,000 0 20,000
02 RItBAMNEXES 20,000 0 20,000
OMNASEL™ JE (L=TorolMetsat Ko
A10F4 018) 20,000,000& * 13 20,000
St & A 415,000 433,000 A 18,000
= 200,000
[ 60,000
Al 155,000
(B=)102 =58i S M 400,000 400,000 0
& 200,000
[ 60,000
Al 140,000
405 XA EHI 400,000 350,000 50,000
= 200,000
< 60,000
Al 140,000
01 XAt ESEHEHI 400,000 350,000 50,000
OZX SN L ST A, JIEFHH P
400,000,000& *» 14 400,000
= 200,000
T 60,000
Al 140,000
(BF )2 A &2t 12,000 30,000 A 18,000
201 et 12,000 30,000 A 18,000
01 At 2telHl 12,000 30,000 218,000
OnoM=sr 218 &2t 24,0002 » 5005 12,000
(3F)s=td nE & X3 3,000 3,000 0
307 212+01 A 3,000 3,000 0
04 CIZHHAE RS 3,000 3,000 0
OMRXIES EHE=32 3,000,000& * 13 3,000
=X HEHZ #*5 11,700 19,200 27,500
(3F)2e)|2 DR 248 11,700 19,200 AT7,500
201 et | 4,800 4,800 0
01 AtR 22l 4,800 4,800 0
O=HMUERHT =5 4,800
Ooglg] 30,0002 = 800K 2,400
OF=11:] 300,000& = 8 2,400
202 t4d| 6,900 14,400 27,500
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